Linear relation CIELAB ( L*, a*, b*) and adapted (a)CIELAB ( C*gp 5 L*)
System: R_LRS18_Z45N_3 Plapr = (L =L ) [ Fw -L¥y)
Hue: h* = 142/360*y = 355/360 1~ ou _ a‘N e [ —at]
a= lab*
*N = Flar [D*w —b*n ]
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Linear relation CIELAB ( L*, a*, b*) and adapted (a)CIELAB ( C*gp 5 L*)
System: R_LRS25_Z46N_NO Plapr = (L =L ) [ Fw -L¥y)
Hue: h* = 149/360:h*y = 350/360

atg=ar —aty ~ e [atw @]
= b*N = e [*w —b*N ]
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Linear relation CIELAB ( L*, a*, b*) and adapted (a)CIELAB ( C*gp 5 L*)
System: R_LRS25_Z47N_N4 Plapr = (L =L ) [ Fw -L¥y)
Hue: h* = 146/360:h*y = 355/360

atg=ar —aty ~ e [atw @]
= b*N = e [*w —b*N ]

- - 5 2 2
Ctapa=[a% +b%]
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Linear relation CIELAB ( L*, a*, b*) and adapted (a)CIELAB ( C*gp 5 L*)
System: R_LRS24_Z48N_N5 Plapr = (L =L ) [ Fw -L¥y)
Hue: h* = 147/360:h*y = 355/360

atg=ar —aty ~ e [atw @]

b*=b* —b*y - |'\;n’ [b*w —b*y]
. _rar 2

lightness L*T Crapa=[a%’ +b%’]
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Linear relation CIELAB ( L*, a*, b*) and adapted (a)CIELAB ( C*gp 5 L*)
System: R_LRS16_Z45F 3 Plapr = (L =L ) [ Fw -L¥y)
Hue: h* = 146/360:h*y = 357/360

atg=a* —ary -~y [afy —aty]
=b*N = i [b*w — by ]
lightness  L* T Craba=[a%7 +b%%]
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Linear relation CIELAB ( L*, a*, b*) and adapted (a)CIELAB ( C*gp 5 L*)
System: R_LRS24_Z46F_NO Plapr = (L =L ) [ Fw -L¥y)
Hue: h* = 153/360:h*y = 354/360

atg=ar —aty ~ e [atw @]

b*=b* —b*y - |'\;n’ [b*w —b*y]
. _rar 2

lightness L*T Crapa=[a%’ +b%’]
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Linear relation CIELAB ( L*, a*, b*) and adapted (a)CIELAB ( C*gp 5 L*)
System: R_LRS21_Z47F_N4 g = (L =L ) W -L*n)
Hue: h* = 151/360:h*y = 358/360

atg=ar —aty ~ e [atw @]

b*=b* —b*y - |'\;n’ [b*w —b*y]
. _rar 2

lightness L*T Crapa=[a%’ +b%’]
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Linear relation CIELAB ( L*, a*, b*) and adapted (a)CIELAB ( C*gp 5 L*)
System: R_LRS21_Z48F_N5 Plapr = (L =L ) [ Fw -L¥y)
Hue: h* = 151/360:h*y = 359/360

atg=ar —aty ~ e [atw @]

b*=b* —b*y - |'\;n’ [b*w —b*y]
. _rar 2

lightness L*T Crapa=[a%’ +b%’]
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